Annual mean TREFHT time series over regions e3sm_v1 (2002-2008)
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= e3sm_v1(mean: 8.86, std: 0.086)
= ERA-INnterim(mean: 9.35, std: 0.150)
= MERRA2(mean: 8.89, std: 0.180)
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= e3sm_vl(mean: 16.85, std: 0.034)
= ERA-INnterim(mean: 16.30, std: 0.028)
== MERRA2(mean: 16.45, std: 0.024)
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= e3sm_v1(mean: -2.32, std: 0.230)
=== ERA-Interim(mean: -2.91, std: 0.316)
= MERRA2(mean: -3.25, std: 0.287)
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= e3sm_v1(mean: 18.32, std: 0.082)
= ERA-INnterim(mean: 18.33, std: 0.062)
= MERRA2(mean: 18.47, std: 0.059)
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= e3sm_v1(mean: 25.45, std: 0.194)
= ERA-INnterim(mean: 25.83, std: 0.086)
== MERRA2(mean: 26.10, std: 0.127)




